
146

Parker Hannifin Corporation
Industrial Profile Systems
Wadsworth, Ohio USA

Industrial Profile Systems
Handles & Hinges 

Catalog 1816-3/US

40 Series

Cam 35-10
[23-140z5]

Hooked Cam
[23-142z1]

0 - 12mm

Keeper Bracket
[23-140z7]

(2) M5 x 16 BHCS [24-116-5]
(2) M5 Flat Washer [24-700-5]
(2) M5 T-Nut [20-052]

40 Series

1.6 - 3.2mm

Included with Handle

Cam 35-10
[23-140z5]

40 Series

Backing Plate
(order separately page 134 )
[23-038z1]

M6 x 12 FHCS
[24-212-6]

L-Handle - Locking
[23-038]

M6 T-Nut
[20-056]

Ø22.5±0.5

Machining for
any of the

quarter turn
locks.

Application

Technical Data

Ordering Information
 Profile  
 Series Description Unit Weight Part #

 

* 

  Square Insert * 

* 

 
 

 

Quarter Turn  
Extrusion Mount

105

40Ø32 50

M22x1.5

78

38

27 50

M22x1.5

32

50

20 50

M22x1.5Ø32

Ø32

6 50

M22x1.5

23-135

23-134

23-133

23-038
23-039

Latches

www.comoso.com



Industrial Profile Systems
Handles & Hinges 

Catalog 1816-3/US

147

Parker Hannifin Corporation
Industrial Profile Systems
Wadsworth, Ohio USA

160

23

28

11.5

Ø6

Application

Ordering Information
Description Unit Weight Part #

Square Insert

 
 

40 Series
Cam 45-2
[23-140z4]

3-8mm 1.2-8mm

16

3-8mm

Cam 35-10
[23-140z3]

1.2-8mm

10

Series
Ø22.5

Machining for
any of the

quarter turn lock.

25

25

Multibock 40
[22-115]

Add a multiblock as a door stop
for panel doors.

30/28

Quarter Turn Handle
L-Handle, Locking
[23-039]

Inside handle shown in combination
with a L-Handle Locking.

Application

Technical Data

Ordering Information  
Description Unit  Weight Part #

Technical Data
 

Quarter Turn  
Panel Mount

23-143

78

27

38

18

32

M22x1.5

23-144

50

Ø32 M22x1.5

20 18

Ø32 M22x1.5

6 18

23-145

23-159

Inside Handle

Suggested Fastening Set (Order Separately)

With Outside Handle Screw Washers

Latches

www.comoso.com



148

Parker Hannifin Corporation
Industrial Profile Systems
Wadsworth, Ohio USA

Industrial Profile Systems
Handles & Hinges 

Catalog 1816-3/US

Ordering Information  
Description Unit  Weight Part #

 
 
 

 

Door Stop - Straight
[23-125]

Add a door stop to swinging door to
create a positive stop.

Application

Ordering Information  Unit  Weight Part #

Application

Technical Data
Aluminum, Clear Anodized

Recommended Fastening Hardware  
(Order Separately)

Screws T-Nut

Ordering Information  Unit  Weight Part #

Application

Technical Data

Part #  Dimension A

Cams & Keys

7

19

4

33

19

32

16

38

12
18

3

Ø5.5

Backing Plate

Keeper Bracket

23-140z4
23-140z5
23-140z6

23-142z1

23-140z7

23-038z1

68

3

54

50

19For M5
FHCS

Ø32

Latch Accessories

44

20
354

A

Recommended Hardware 
(order separately)

Series Screw Washer T-Nut

www.comoso.com


